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Que estion Papet for JE (Siqnan in Level 6 against appointment on
Compassionate Ground

1. WeAIT F T HF - 100 ¥
‘ Total Marks of Question paper is 100.
TeATT g e I T WA 3 ©H §

2.
Time for solve question paper is'3 hours.
3. WeANT H 2 HIT § - HFT 1- & T 3HF 40 § T HET - 2 F FA IHF 60 T
' There are 2 parts of Question paper. Part 1 consists of 40 Marks and Part 2 consists of
60 Marks.
4 wheT w7 F soeiiee Aol S A, e 9, Feagael ANe B
’ Electronic items like Mobllephone smart watch, calculator i gs prohlblted in class room.
Part-l (General)
()%?“’fiaa T g - ~ (10 3iw)
(A) Choose the correct answer — . (10 Marks)

1) SR B TET T T e
@) SR (@), (F) T (3)dSs
What is the National Currency of India? - :
(a) Dollar (b) Ruby (c) Rupee = (d) Pound
(37) BRIy (@) s (F) MW~ (8) HImE

Which animal is the national animal of india?

(a) Elephan't‘ (b) Tiger (c¢) Lion (d) Kangaroo

-,aﬁ?aﬁaﬁ%w&wa@waﬁgv i
(0 557 F@r (@) AR () Reei @ s

Which of these is not a mosquito borne disease?

(@) Dengue Fever  (b) Malaria  (c) Filariasis ' ‘(d‘) Goiter
4) =RFT W7 RO HRoT @ar §7 SRR T
@R . @) T , @ arw . (3) frvEe
Cuiund disease I$ caused uus v — ey asta ' )
(a) Bacteria (b) Fungus (c) Virus . (d) Fermentation
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5) TN R Seuree & R Sear 87 @) 3
o) T (@) R (W)

Rat is famous for the production of - g8
(a??)an?;?\; {b) Grapes (c) Bananas (d) Mang '

6) T & NS ¥ @ W AT AL A &7 e
@) SRy (%) TR @& 6

dia?
Which country do not share boundaries with In China
(2) Bangladesh  (b) Pakistan ) Russia  (d)
7) SR TAT e e a8 : -
G g @ Rew (%) 9EE (8) TR
National Capital of India'is — '
. (a) Mumbai ° (b) New Delhi (c) Chand:aarh (d) Nagpur
8) ﬁ%mﬁmmmm-ﬁw,m e & HINET e?
@ &) 5= F) W (3) .E'T’f
Plants absorb most part of water needed by them Ehrough their—
(a) Stem (b) Root hai (c-) Leaf  (d)Bark

9) é" Wﬂﬂ‘ i ooy G;RT v‘

(37) STeraitg : (m) SRS (3) FerR
Which of the: followx aharashtra ss welH(nown for its production of
bananas‘7 v S,

; {a} Jalgaon: gar . {c} Nashm (d) Solapur

10) ST WH%HW

() aRT FT gRAT _

Dr. APL Abdul f’ alam was known as —

{a) fron man of India et (b) Defense-man of India
(c) Superman of India (&) Missile man of india

(@) PR e @ & T 9 e - (10 3

{B) Whether Statement.below is True or False — (10 Marks)

S 11y ar%aémmﬁwmﬂmmmma;

Name of present Honorable President of India is Smt. Pratibha Patil.

12) HERIST T & 1 25 e I AART v &

Maharashtra day is celebratéd on 25" December of every year,

13) q4 % FroT FaTf@eT 9 WIoT T qET A B

Sun rays are major source of Vitamin-D,
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14) qmmranﬁtmmmﬁﬁsmml
Aryabhatta discovered number Zero.

ce A, w9t w gepere MR ¢

LIC stands for Lwe information corporation:

16) TE.ALINE, F Yw@zaa‘sm'g%mm
SBI stands for State bank of India.

A wof w7 aeé oY mvﬁmsmm d
WHO stands for World Hea\th Organization.

15) EHTHRIW: ot &9 SREA @ e WY ABEA T B
8 ICMR stand for Indian Coungil for Medical research.

15)

1g) FET WA R FTA 6 Fieet R
There are 6 divisions in Central Railway.

20) ER S ¥ 3EOT..... AR TSERT A &1

National Anthem of |ndla is.‘Sare Jaha se Achha
(a:)f:mﬁ-@'cf mﬁmﬁmmm— | (5 X 4=20 37)
© Wiite in brief-about (Any four) - i - (5X4= 20 Marks)

=)

inflation and its effects on day to day working

4 WWm‘Wﬁa"am%@a’:ﬂ a0
. : Precautions to prevent. Corona Virus dlsease '

3y g 3 ST e
Yoga and its 'imporit'_'anc_ie,

4 RO W I TR

Internet and |ts benefit

© 5) WENUT ¥ UHE -
Effects of Pollution.

**i‘***t’*it*’w*-
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CE ]
g ()
Part:ll (Technical)
(W w¥ot w Ras wt - (10 aim)
1A Mateh the Golumn - (10 marke)
Colunn - A Column - B
L lopwt davico a, Printer
2. Output davico ’ h. Chrome
3. Browser c. Keyboard
4. Paseal 7 d. Application software
5. M8 O(ﬁco e, Computer language
() W 3% T ' N

%) Choose the correct answer — (10 marks)

N PAQF w0 i
FAQ stands for.
(30 ¢ (a) Frequanll

®) 1 () Favourite and An:
) 1 (d) FrequentlyA'

[y
e

qﬁmammﬁz‘rm ST e

(31) TR L ) ey (5) TerRaty
To see the distant object we can use — ‘ ‘
. (a) Telescope, (b) Periscope . . (c) Microscope (d) Stroboscope

3) %ﬁamm%ﬁr’ﬁwﬁmsﬂéﬁmm#

Speed of internet connection is measured in.

.............

-(3{)/ (a) GHz &) / (b) dpi @) (o Ppm ‘ &7 ) Gt .
) T & A W s ey .aﬁmmg,
(30 g-effr (@) A .
- AF) g-wdfer (3) A Firmidar
, Leammg oniine through internet is also known as -
(a) E-teaching. (b) Chatting
(c) E- -learning (d) Video Conferencnng

(& Scanned with Oken Scan
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ki) arar
fa)) rﬁa‘m Wﬁﬁ‘" ] (8) 3U0FT A
king can be accessed through? ’
(b) Laptep with Internet faciiity

How intemet :?n‘ S iy
a) Mobile with intemmet factl
fc; Computer with intemet facility (d) All of these

MHz 37 qoF &9 4T §?

MRz stands for?

(3 / (a) Millihertz - @)/ (b) Microhertz

(F) 7 (c) Megahertz (5)/ (d) None of these

p 7) X F HaY FH Hd
; What is the full form of "CPU" i

(31) / (a) Crisp programming Unit
(&) / (c) Cumulative Programmed Unit (3)/ (d) Central Peoples Unit

8) ﬁﬁ,msﬂta‘hﬁzﬁmma:sqm?
(303{13@3%313'917' , ‘(a)gamme?m
(3) 5 ¥ IS TG,

() 399c BaswyE
e of Devices are Keyboard, Mouse,. and Joystick?:
(b) Integration devices

6)

T qut &9 FI 87
in connection with Computers?
)/ () Central Processing Unit

What Typ
. (a) Output devices ,
‘(c) Input dewces = (d) None of these
g) fiorer arge # fkc T ga 7
(@010 @ 2 F 12 (B8 |
How many Bits are in a Single-Byte? - . 5
4 (a)10 (b)2 . (© 12 i (d) 8
10) gm%osuaﬁmﬁﬁq’m) mﬁﬁaﬁﬁqﬁm%v
(306 @7 - @ 8. B9 o
How many layers are fhere in OS] (Open Syst l t
@6 (b) 7 | (c) 5 (Op y(sél )'331 n erconnectlon) model of datacom?
(@) Frafofm T G E T T AAC (05 ) |
N (05 marks)

{C) Whether Statement below is True or False -

1) faselr :
%mzﬁmw@zﬁﬂw WIS (Ohm's law ) AT V=IR ? o R -

o e
st fundamental law in electricity (s Ohm 5 1aw or V=IR (where R is

resnstance, VIs voltage and I s current),

G Scanned with A1 _
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TV stands for Telovision,

3 SR ww ot s e AR Rt b
GPS stands for Government Position systony,

RGN DR O T T R n e, i
ATM stands for Automated Transaction Machine,

5) g ¥ T ot A gy

In metals, the charge'carri.ers are Electrons, -

- (05 3)

(3) PR & yof w fry
(D) }';fnt: %'_L;lfl) fornv of the following ‘:- : (05 Marks)
2) LAN i o
3) ISDN.
4) FDMA
5) VPN
@Hﬁ?q:ﬁwﬁﬁ!(ﬂéz (6X2=10 3im)
(6X 2 = 10 Marks)

{E) Write short notes ori

1. Multitasking y
2. TCP/IP fred
3. Microprocessor versu
4. Database versus Fil
5. Data structure

ORECIp——

(F) Solve any 4 questio

1. Sarah is twice.as old as her youngest brother. If the difference between their agesis 15

(SX4=zov3ia;)“ :
7 (6X4=20Marks)
BT A 3R I A R 15 a§ B

years. How old is her youngestbrpther?

2. STt & sivewIng (N R SovRm) Hed B Rl R B o R

" 2. Write different types of layers of OS! (Open System Interconnection) model of datacom?

3, S e B AT F T §2 T ek ¥ R R R

3, What do you mean by Computer Networks? Write differgnt types of Computer Networks,

4.mmm@mwmé‘v

4. What do you mean by database management system?
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